

CSC 301 - Lecture 16: Induction!

$$\begin{aligned} S_1 & 1 = 1^2 \\ S_2 & 1 + 3 = 2^2 \\ S_3 & 1 + 3 + 5 = 3^2 \\ S_4 & 1 + 3 + 5 + 7 = 4^2 \end{aligned}$$

S_i : The first i odd natural numbers sum to i^2 .

Proof By Induction

Base Case $\rightarrow S_1$ is true because the first 1 odd natural number (1), sums to 1^2 .

(Show:) IF S_k is true, then S_{k+1} is true

Suppose S_k is true. Then

Inductive Hypothesis

By the I.H. $\rightarrow 1 + 3 + 5 + \dots + (2k-1) = k^2$

$$\begin{aligned} 1 + 3 + 5 + \dots + (2k-1) + (2k+1) &= k^2 + 2k+1 \\ &= (k+1)(k+1) \end{aligned}$$

S_{k+1}

$$1 + 3 + 5 + \dots + (2k+1)$$

the first $k+1$ odd N's

$$= (k+1)^2$$

Inductive Case (step)

Strong Induction

Inductive Hypothesis is now:

$$S_0 \wedge S_1 \wedge S_2 \wedge \dots \wedge S_k$$

Show that $\Rightarrow S_{k+1}$

Fibonacci Sequence

F_0	F_1	2	3	4	5	6	
1	1	2	3	5	8	13	...

$$F_0 = 1$$

$$F_1 = 1$$

$$F_n = F_{n-1} + F_{n-2}$$



A.1 Base: (...)

$$\text{I.H.: } 1 + 2 + \dots + n = \frac{n^2 + n}{2}$$

$$1 + 2 + \dots + n + n + 1 = \frac{n^2 + n}{2} + n + 1$$

$$= \frac{n^2 + n}{2} + \frac{2n + 2}{2}$$

$$= \frac{n^2 + 3n + 2}{2}$$

$$\underline{(n^2 + 2n + 1) + (n + 1)}$$

Want: $\frac{\overbrace{(n+1)^2} + \overbrace{(n+1)}}{2} \longleftrightarrow \frac{\overbrace{(n+1)^2} + \overbrace{(n+1)}}{2}$